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Question 1
Write a composition (300-350 words) on any one of the following (20)

a) You have been given a chance to spend a day in the past. Which age in the
history of mankind would you choose and why? Describe how you spent the
day.

b) A day in the life of a traffic police constable

c) Religion has no importance in our lives today. Argue for or against the
statement

d) Write an original short story in which the central character is a nursery
rhyme character

e) Study the picture given below. Write a story or an account of what the
picture suggests to you. Your composition may be about the subject of the
picture or may take suggestions from it; but there must be a clear connection
between the picture and the composition.

Question 2:
Select any one of the following (8)

a)Your friend has fractured his leg and has been confined to bed for a month.
Write a letter to him sympathising with his plight and giving him details about
the happenings in school.



b) You found a bag containing some important documents on the seat of a bus
you were travelling in. The address of the owner was in the bag. Write a letter
to the owner of the bag asking him how he would collect his bag and telling
him how you had come across it.

Question 3: (4+4=8)

a)You are the secretary of the Quiz Club. Write a notice for the school notice
board, inviting students from Class 7 and 8 to take part in the Inter House
Quiz Competition.

b) Write an email to the well known Quiz Master requesting him to conduct the
Quiz

Question 4: (15)
Read the passage carefully and answer the questions that follow

In Paris he went to see Monsieur Audiat. Monsieur Adat was careful as well as
humble .Chris Selby was his only customer for watches and Monsieur Adat
was glad to have a regular twice a year profit rather than business every week
with a risk of being found out.Chris found Audiat and his brothers in the back
of the shop.

‘A thousand of the last shipment of watches had not worked; most of the others
were poorly made and all of them had been so badly packed that many had
broken’. Audiat stood there hating Chris. He would have liked to kill him but
did not want to destroy the source of a nice little profit. He promised that the
next shipment would be perfectly all right.

Selby wanted the watches to be ready for him to take that night. He told Audiat
just how he wanted the watches to be packed in the car. It’s surprising how
many watches you can put into one car, especially the floor is a false one and
the gas tank holds only two gallons of gas! Audiat promised again that this
time his brothers would examine all the watches themselves.

Just after four in the morning Selby was in his car singing to himself as he
drove past the gates towards the customs at Dover

All his bags were opened by the customs man. Then he walked to his car.
Everything went well , just as it always had-the practised smile and the easy
manner all helped.



Selby was about to get into the car and drive away where there was suddenly a
mad noise of whistles and then everything stopped. When the whistles blew at
eleven o’ clock on Armistice Day, everybody stopped and there was silence for
two minutes in memory of the war dead. Chris Selbi and a customs officer
stood by the car and bowed their heads. You could hear the water against the
dock and that was all.

Or rather that was almost all-something else was heard too. From the car, not
loud enough for anyone else to hear, it’s true,but loud enough for the customs
man, came the sound of five thousand watches ticking. They had all been

wound by the Audiat brothers who had wanted to please Selby by making sure
that this time he had watches that worked as well as watches that looked nice.

Give the meaning of the following words as used in the passage.One word
answers or short phrases will be accepted: (3)

i) poorly
ii) please

iii) source

b) Answer the following questions briefly in your own words:
i) Why did Monsieur Audiat continue to do business with Selby? (2)
ii) What had happened to the last shipment of watches? (2)

c) In not more than 50 words describe what happened after Selby reached
Dover (8)

Question 5

a) In the following passage, fill in each numbered blank with the correct form of
the word given in brackets. (Do not copy the passage ,but write the appropriate
word or phrase in correct serial order in the blank space)

(4)

Fame and public acclamation (i) (be) hers, but she (ii)
(do) not rest on her laurels. At about the time of her sixtieth birthday,she

(iii) (start) another great work.All her life, she

(iv) (love) tending the sick.Now she (v) (make) an attempt
to (vi) (establish) nursing as a recognised and honourable




profession for women.She founded the Protestant Sisters of Charity, or
Nursing Sisters.Twenty women (vii) (enrol) provided with special
uniforms and|(viii) (house) together in a comfortable home.

b) Fill in the blanks with appropriate words (5)

i)The manager was very vexed his subordinate for being rude to the
customer.

1.with

2.for

3.on

ii)They were very vexed missing the train due to the traffic jam.
l.at

2.of

3.the

iii) Both the Pathan brothers have been good cricket since their
childhood.

1.to
2.at
3.on

iv)Both the Pathan brothers have been good their parents since their
childhood.

1.to

2.at

3.on

v)Tanya did not know how she would sit the boring lecture.
1.through

2.upon

3.from



vi) Never once did she sit while she gave her lecture.
l.up

2.down

3.on

vii) Mr. and Mrs. Norman have been waiting for them nine o’ clock
1.since

2.till

3.at

viii) Mr. and Mrs. Norman waited for them nine o ‘ clock
1.till

2.at

3.on

ix) Initially she hated the children but was soon won by their
simplicity

1.over

2.0n

3.into

x)The village team won __ the British officers in a fair fight.

1.against

2.for

3.into

c)Join the following pairs of sentences without using and,but or so:  (2)
i)The bottle was on the table.It was filled with water.

ii))Smoking is injurious to health.Ram smokes



d) Rewrite the following sentences according to the instructions given. Make
other changes that may be necessary but do not change the meaning of the
sentence:

i)His illness has made him too weak to get up. (8X1=8)
(Remove ‘t00’)

ii) Jerry is cleverer than Tom

(Begin: Tom is....... )

iii)’Gitanjali’ was composed by Rabindranath Tagore.
(Begin: Rabindranath Tagore...)

iv)If he is late, he will not be allowed to enter the school
(Begin: Unless...)

v)Meena remembered my birthday

(Begin : Meena did not...)

vi) How beautiful the dress is!

(Begin : This dress...)

vii)A box full of chocolates is what I want.

(End with:................e. a box full of chocolates)

viii) Both Ravi and John cannot sing.

(Begin: Neither............ )
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Attempt all the questions from Section-A. Attempt six questions from the two text books. You must
attempt at least one question from each of the sections B,C & D.

The intended marks for the question are given in brackets.
SEC-A-Drama

Answer all the questions by choosing the right option given below.

Question-1:

i) Antonio-

And such a want-wit sadness makes of me

What does the phrase ‘want-wit’ mean?

a) gentleman b) an absent minded fellow c) troublesome d) none of the above

ii) Salarino-

Your mind is tossing on the ocean;

There, where your argosies with portly sail,

Who is refer to here as ‘yours’?

a) Salanio b) Antonio c) Lorenzo d) Bassanio

iii) To whom the ‘argosis’ were compared in the following extract?

a) small commercial boats b) gentleman and importance citizens c) rich merchants d) none of the
above

iv) Salarino-
Would blow me to an ague
what would make Salarino to tremble?

a) when Salarino would blow on his soup to cool it. b) his business operations c) while cooling his
soup, when he would think about what harm heavy wind can do to his ship d) none of the above.



v) Bassanio-

Good signiors both, when shall we laugh?

Who are referred to here as ‘Good seigniors both’?

a) Gratiano and Lorenzo b) Antonio and Salarino c) Salanio and Salarino d) none of the above

vi) Bassanio-
Nothing under valued
To Cato’s daughter,

Whom does Bassanio refer to?

a) Jessica b) Nerissa c) Portia d) none of the above

vii) Portia-

That he hath a neighbourly

Charity in him.

Who has a ‘neighbourly charity’?

a) Falconbridge, the young baron from England
viii) Shylock-

Your worship was the last man in our mouths.
Whom does Shylock refer to as your worship?
a) Bassanio b) Tubal c) Antonio d) Launcelot.
ix) Gobbo-

By God’s sonties, ‘t will be a hard way to hit
Whom Gobbo was talking to?

a) Shylock b) Bassanio c) Launcelot d) Jassica.
x) Launcelot-

Most beautiful pagan, most sweet Jew!

b) French Lord c) Scottish Lord d) County Palatine.

Whom does Launcelot refer to as ‘most beautiful pagan’?

a) Jassica b) Nerissa c) Mergery d) Portia.



SECTION-B-Drama

Answer one or more question from the following play.

The Merchant of Venice- Shakespeare
Question-2:
Read the extract given below and answer that follows:
Your father was ever virtuous, and holy men
At their death have good inspirations.
Therefore the lottery that he hath devised
In these three chests of gold, silver, and
Lead, whereof who chooses his meaning
Chooses you, will no doubt never
be chosen by any rightly but one

who shall rightly love.

(i) What are the terms of the lottery referred to in the above extract? Who [3]
devised it?
(i)  How do you know that Portia was not happy with this lottery? [3]
(iii)  Name any six suitors who came to woo Portia. [4]
Question-3:

Answer the following questions:

Salanio:

Believe me, sir, had | such venture forth,

The better part of my affections would

Be with my hopes abroad. | should be still
Plucking the grass to know where sits the wind,

i) Where would Salanio’s attention be if he had business venture abroad? Why would he be ‘plucking
the grass’? What else he be doing in that context? [3]

ii) In spite of the danger to his ships, why is not Antonio worried about his financial security?  [3]



iii) What possible danger did Salarino mention that a ship can face during a voyage? [4]
Question-4:
Answer the following questions:

ANTONIO

In sooth, | know not why | am so sad.

It wearies me; you say it wearies you.

But how | caught it, found it, or came by it,

What stuff ’tis made of, whereof it is born,

| am to learn.

And such a want-wit sadness makes of me,

That | have much ado to know myself.

i) Where are Antonio and his friends? What does Antonio says about his sadness? [3]

ii) What reason does Salarino give as the probable reason for Antonio’s melancholy?  [3]

iii) State in your own words the scene on the ocean as described by Salariono when Antonio’s ships
were at the sea? [4]

Question-5:

Answer the following questions:

Their dying fire in need of logs
The first man held his back
For of the faces round the fire
He noticed one was black.

i) What kind of prejudice does this stanza refer to? Give a brief description of the kind of climate in
which the people are stuck.  [3]

ii) What is the symbolic significance of the phrase ‘dying fire’? What does each member of the group
possess? [3]

iii) What does the ‘log’ imply here? How was group formed? [4]



Question 6:

Answer the following questions:

The last man of this forlorn group
Did nought except for gain.
Giving only to those who gave
Was how he played the game.

i) Why does the poet call the group ‘forlorn’? Who were the people that made of the group? What
do they have in front of them? [3]

ii) What prevents the last man give his log of wood to give in the fire? What type of mindset aptly
defines the behaviour of the last man? [3]

iii) What outcome do the members of the group face? What led the members of the group to reach
the outcome?  [4]

Question 7:

Answer the following questions:

The third one sat in tattered clothes.
He gave his coat a hitch.

Why should his log be put to use

To warm the idle rich?

i) What is meant by ‘tattered clothes’? Why does the third one give his coat a hitch? What does the
word ‘tatter’ tell us about the condition of the man? [3]

ii) What opinion did the man have about the rich? Why did he not give his log of wood to the fire?[3]
iii) What thoughts did occupy the rich man’s mind? [4]

Question -8

Answer the following questions:

When there was a strong wind , the pine trees sad, eerie sounds that kept most people to the main
road . But Mr. Oliver was not a nervous or imaginative man. He carried a torch , and its gleam —the
batteries were running down- moved fitfully down the narrow forest path.

i) Who was Mr.Oliver and what was his daily routine?  [3]
ii) How can you say that Mr.Oliver was a brave man?  [3]

iii) What pictures of the school is projected here? [4]



Question 9:

Answer the following questions:

| saw something—something horrible—a boy weeping in the forest—he had no face!

No face, sahib?

No eyes, nose, mouth—nothing

i) Why and how did Mr.Oliver show his concern for the boy? Did the boy reply affirmatively? [3]
ii) Why was Mr.Oliver surprised to see the boy? [3]

iii) What sight did make Mr.Oliver afraid? Whom did Mr.Oliver called a miscreant? [4]

Question 10:

Answer the following questions:

The torch fell from his trembling hand. He turned and scrambled down the path running blindly
through the trees and calling for help.

i) Whose trembling hands are referred to here? Why were his hands trembling? Why did he drop the
torch? [3]

ii) Why did the person take the way through the pine forest? Why did people usually avoid the pine
forest? [3]

iii) Why did Mr.Oliver call for help? How was he running ? Where was he running towards? Did he
getany help? [4]
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Question 1 (10X 1=10)

Choose the correct option:

vi.

Article ____ prohibits human trafficking.
a) 19
b) 21
c) 23
d) 26

This writ is issued for a person who has been unlawfully imprisoned:
a) Quo Warranto

b) Mandamus

c) Prohibition

d) Habeas Corpus

“The state shall promote welfarism by securing and protecting the social order through
justice.” — This statement has been provided by the Constitution under Article:

a) 12

b) 38

c) 40

d) 51

The first Chief Election Commissioner was:
a) Sukumar Sen

b) Rajendra Prasad

c) Jawaharlal Nehru

d) None of the above

It talks about regulations of monastic life:
a) Jatakas

b) Abhidharma Pitaka

c¢) Udana

d) Sutra Pitaka

Which among the following is the oldest dynasty?
a) Maurya

b) Gupta

c) Kushana

d) Kanva


DEBOPRIYA
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vii.  Who amongst the following also had the name “Devanama Priyadassi” ?
a) Mauryan King Chandragupta Maurya
b) Ashoka
c¢) Gautam Buddha
d) Bhagwan Mahavir

viii. Harisena was the court poet of which Emperor?
a) Vikramaditya
b) Samudragupta
c¢) Kumaragupta
d) Skandagupta

ix.  The title “Indian Napolean” has been attached to:
a) Chandragupta Maurya
b) Samudragupta
c¢) Chandragupta
d) Harshavardhana

X.  Whose achievements are recorded in Allahabad Pillar inscription?
a) Chandragupta
b) Srigupta
¢) Samudragupta
d) Skandagupta

Question 2: (5X2=10)
Answer the following questions:

i State the sources which inspired the Constitution makers to incorporate the rights in our
Constitution.

ii. Mention the six basics fundamental freedom under Article-19.

iii. What do you mean by Preventive Detention?

iv. Explain any two reasons for elections for democratic system.
V. Give the difference between general election, by election and mid-term election.
Question 3: (10X 2=20)

i What is Udana and Vedana?
ii. Why Hinduism lost its popularity in 6™ BCE?
iii. Why Karma and Moksha were important to the Jains?

iv. Mention the four Noble Truths preached by Buddha?

V. Give any two features of Sanchi Stupa.

vi. Who were gurudhapurushas?

vii. How megaliths helped the historians to reconstruct the past history of Sangam Age?

viii. Give description of the houses of Sangam period.



iX. Explain foreign policy of Chandragupta Il.
X. Who destroyed Nalanda University and when?

Question 4:
With special reference to Part Ill of our Constitution, answer the following:

i Right to Freedom of Religion.
ii. Right to Constitutional Remedies.
iii. Any two Fundamental Duties.

(4+4+2=10)
Question 5:
Regarding the administration of the Mauryans, discuss the following:
i Central Government.
ii. Municipal Administration
iii. Judicial Administration.
(4+4+2=10)

Question 6:
In the context of the Gupta Empire, explain the following:

i Conquests of Samudragupta.
ii. Military policy of Chandragupta Il
iii. Development in Architecture.

(4+3+3=10)
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Q1. Choose the correct option: (10*1=10)
i. The example of Residual Mountain is
a. Salt Range in Pakistan

b. Cats kill Mountain in USA

c. The Appalachians in North America

d. The Kilimanjaro in Africa

ii. The Average density of the materials in mantle is
a. Below 3g per cubic cm

b. 5.5g per cubic cm

c. Above 5g per cubic cm

d. 3.5 - 5.5 g per cubic cm

iii. Mantle is made up of

a. Iron and Mangnesium

b. Silica and Mangnesium

c. Alluminium and Magnesium
d. Oxygen and Silica

iv. The temperature at Asthenosphere is
a. 9000C

b.14000C

c. 20000C

d. 10000C

v. Structural Plains have been formed
a. Due to deposition in the lake environment

b. Due to external forces.

c. Due to the upliftment of the submerged landmass
d. Due to the deposition of materials by the sea waves

vi. Basalt is the example of
a. Intrusive igneous Rock
b. Plutonic Rock

c. Volcanic Rock

d. Basic igneous



vii. The word Metamorphic means
i. Settling down

ii. Changed form

iii. Wearing down

iv. Removing from

viii. Dolomite is the example of
i. Clastic rock

ii. Aqueous rock

iii. Carbonaceous rock

iv. Calcareous rock

ix. Most of the World’s active volcanoes are associated with
a. Convergent Plate boundaries

. Divergent Plate boundaries

. Conservative Plate boundaries

. Intra Plate boundaries

o0 o o

. Mt. Cotopaxi is the example of
. Acid lava cone

. Basic lava cone

Ash cone

. Composite cone

00 TP K

Q2. Mark the following on the outline map of world: (10)
i. R. Colorado

ii. R. Paraguay

iii. R. Danube

iv. R. Nile

v. R. Zambezi

vi. R. Mekong

vii. South China Sea
viii. Strait of Gibralter
ix. North Sea

xX. Bering strait

Answer the following as per instructions:

Q3. a) Define volcanism. Write the causes of volcanism. (1+2)
b) State two difference between Caldera and Crater. (2)

c) Explain the formation of Dykes.(2)



d) Describe the distribution of volcanoes. Justify your answer with three
points.(3)

Q4. a) State three difference between Igneous rock and Sedimentary rock.(3)

b) Define the following: (2)

Plug, Metamorphism, Moraines, Lithification.

c) Write two characteristics of Rocks. (2)

d) Classify the Sedimentary Rock on the basis of transporting agents and write
their formation. (3)

Q5. a) Define Mountain. Write two characteristics of Mountain. (1+2)

b) What is the reason that ‘Plains have the high density of population’.(2)

c) What is Dissected Plateau? Give an example.(2)

d) Give an geographical reason: (3*1)

i. The Tibetan Plateau is called ‘Roof of the world’.

ii. The agriculture cannot be practised on a large scale in the mountainous
regions.

iii. Mining is the chief occupation in the plateaus.

Q6. a) How do temperature and pressure inside the Earth to get our knowledge
about the interior of the Earth? (3)

b) State the different types of seismic wave. Write an comparative point among
them. (1+2)

c) Why the core is called Barysphere? Write the average density of this layer. (2)
d) State two difference between Oceanic Crust and Continental crust.(2)

Q7.a) The Earth behaves as a solid upto the depth of 2900 km from the
surface. Why? (2)

b. Write a short note on Intermontane plateau. (2)

c) Write two destructive effects of volcanic eruption. (2)

d) Identify the following rocks into Igneous, Sedimentary and Metamorphic:
Granite, Gneiss, Graphite, Diamond. (4)
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Attempt all questions from Section A
Section - A
Marks - 34

Question 1.

fArfafaa fawat # @ e v AT WX o9rs79r 250 sl A tah Ay faf@u (15)
i. T 3R gART Sfaa

i. To T AT 3THT HE T Fglad W Th hglel for@r|

iii. WIhR' W Tk oG forar|

iv. HST Sfiae H qEhl HT Hged|

Question 2.

ffaf@a vl & & R v faw 120 oset # 97 faf@w (7).

1. 39% &7 H IR TR [§ofell S & HOY & FAMGR 99 & JUiGeh ol BRI 99
faf@T |

2.3194 aleT off & T 93 fof@v G 3m9 39 Afee syafstal w o=t fifav)

Question 3.

AT for ITEATY AT UGl IHeh & fGU T WeaAT & IR U« ear A fei@e-
HETHAT HACAAIGT HATIAT S 39T Todrn,Sr AP 3R AT FHererar & ferwsrar
gfley dF & €U Ha¥ 3T 39 Ao AT-Heeddn| el @ sfieve 3@ dmr AgT
ST AT| GERT T g@ @ & U Usd ¥ 3R Sigs Hera gicl g6 o A
3cud & Sid J

USRS AT ST S5T LfTerdr § T & UH Seol H B GG sgAsarden d
amﬁr&lé@ﬁﬁé@sﬁﬁeﬁ-—-“@gﬁ%mm@maw%l'c:na':ﬁ’r
$I2 gz ¥ g1 NS & AR Fdddehv ag Rodrd g3 SER-3ER {71 &1 39 g
gar gagd |" dehah Asiaey H HFAT AHT Teh Sl gar &t & [Siee & &ar
TECRTY &7 T &), R 95 & TSTIeT i NsT & HROT FaT o911 qRTT-ARGell 2|
Ul Ut & 38 gar ST T FE ATl &aT ol AT SiEhel & $HT o5l
F WY T &F 9H IA| 9 AF@AT F 7T § UHSOS H 3z F Bw a4m| Arerdry
ST T a1 H FHYe] ol T 33U gard RN 3N g F Fd & a1d H gar o9
oaY| el IRICAT AT, $liehell ATEIT feWhT a8 Hrest I Fedm AT, fehq AT Sir 8
Yol Fueeh &) I YIATT I HIH H ofdl E| adl M § Fd H digrerdrag 4R @
W@ﬁmﬁﬁmlﬁﬁmwsﬁwmsdm a7 3ASd!
oY, Q- AT AT SR, AT FAvearEaean & fav foetenr gea afdd g1 srar
UT---VH & AT ST |

YT

i AT S & giaey 97(1)

ii. 3eTehT §ST HEIIOT AT UT?(1)

iii. I deTSl & I FT A(1)

iv. dETSIT o 3oTehl AT HEIAT &I 2(1)




v. ATSAT ST & Siigel & g7 Rom Ferdr § 2(1)
1.9RTeeTr fr

2. 996K hr

3.9XgudT T

4. TATAAT T

Vil T Gerenr T 37 §1(1)

1.619TeT & T el aTell

2,57 1 A= arel

3.376aef

AFTH H Hel of 3=t aTell

Vil 3T F 0T @ F9sy i 3 7 BT wEi(1)
189 &

29X &

3AfFEar %

4. HS &

viii. 'Taueared ereg &1 37 g-(1)

1.3 &

2.78ed # v

3.8 7 B

ABAH ¥ HIS AT

Question 4.
fArfaf@d weat & 3w Aduar @ -
i.Ffaf@a el & faee eeg Af@T -F5 ar (1)
&Y fa=rer,

ii. AT HeTert A @ fonell woh &1 3 fr@e arerg & 3T hifSe- (1)
IS 3TTelell, STEY &l He dla

iii. ‘ST 3T T dleldT g 3T T X I g1 SWIFd drag HT Tl ared g1(1)
1.3 g=ars$ SYeldr § g8 3eofiy giar & |

2.9T Sl aTel T T 3 A &l

3.9 Sedal arelm 31eXofT gar § |

4,370l giar & St I dieldr gl

iv. & gt # ST Teh Qe Tlea|(aue Seele] ared glam (1)
1.gahreT e H f@eller wligan|

2 gelel STt T@ellet @ligam #|

3.8H gl H S T&ellel @lica|

4.3RFd H F IS 87|




Section -B
Marks -36
Attempt any Four questions from section B, answering at least one
question each from two books you have studied and any three other
questions.

qifged - WP
AT - T

Question 5.

IR T 9T Adeld g fob ST 1 ¥9d &l IS 1S 8,01 Hidetan Ig dfh
AT TEAT HF HMS S| 91T H 1 § olaf 3R &8 & ST AT 3Thipenl Hl faaTr
SAT-ATIT & Sl HIT § 3 38 50 HH & AU Fo 1639 ot 7y 1 &ar &
AR FST AT T aiiG g1 TS | [HTehT-[ATRIAROT a[ee]

i. QI AT AT g I 2(1)

1.87TeTr b THASCERT T I AR |

2.9 T I3FaT U

3. #lell & IRRA W

458 & 3T Fr 3EC TR

ii. AT T AT AT AT 1A FHTS 7379 FA12(2)
iii 37 ST T GoAar 2T TR FAT g1 9112 3FHT =AAT 7 4T HROT AT (3)
iv. Shlef STehT I TeTT GAT- AT & STell 3T TAT AT & Y AT T8 52(3)

Question 6.

3T AT B A 3 o Fgl W1 &1 o IR @l 9w da-aa & 38 guav=d
&1 3Med U g5 A gF Fgl AT AT F 8N o M 93 WX 98 -HM Yeveie]

i.'TT B T AT §2(1)

1.ATSHT

2. HEAT & TR

339G

4.0ar & W

ii. SIH-CI @ AT AT g2 da9aT F &7 39 Tohal el Fr 3Ted gar A7 2(2)
iii.3774T & A W 5§ 'JAT 8T & qIdra’ol & 37 Y9 937 3R 6 33 a1
fRar?(3)

iv. 3eer & 9fd &1 9IR=TT qfFwa Fa 22(3)

Question 7.

faedeaY gaEefd g1 a6 WS T@ T |(Frehr- FAARTAROT I7ea)
i.' faedeay &l am2(1)

1.7 & fOar

2.9 & ar

3.3AT & [ar

AZAH IS el

ii. faeaeay S &1 aféica 9 fFT 2(2)
iii. faereaw S & ey &t 4 €3 foam 3R =T 2(3)
V.37 3MUhT TS QAT IRTET AT Tehyul IR QTAT(3)



AIfged -APR
qeg-H1eT

Question 8.
a8 a9 Tar #H,
AdA T <IdgRR|
S ofeT U IS A,
dd o9 drehl IR |
dd ofdT drehl IR,
IR T & HaT 3|
4ar @ o U,
IR AGH gl e ||
Fg TR swiam
SeTd Ifg o/ HS|
d SRS A,
IR TSl @1 @5l IR & ssferar- AReR swfaw]
i, AT T TdgR &I TAfds 7T § 2(1)
1.5HagR THeA gler
2.5gdgR FRAT Blll
3.7ardt gl
4.53arY gletr

i. Tardt A7 &g d& gART Iy <d 82 (2)
iii. 38 FHsfodl @ fAcE arel T & faw & 9= faur faf@w?(s)
iv. godr adar & @@y & 9 gy odr(3)

Question 9.

T gaer W #7 78,

I AT A ATHA

€ T 3= 93|

S T o HiGTel 9T T, o oeh o H O g
TAAT FART 1A B[ ool §ART A g- Riadarer &g Ga=1]
i. TaRmer e &1 31 §1(1)

1.310H

2.30H

3.5 A

4. HIH

i gaer T 7 9 F ST F1 F:1 3T § 2(2)

iii. 3T T-¢X X WST Bled o ToIT HAT FAT FX @& o 2T H AQTI(3)

iv. 'S ek o S 9T Tk dd deh H o faUH 859 4iFd @ Hfd &1 41 3R
82(3)

Question 10.
oS H 0T T ¢,
Har T |



dgl ard 3797 |

YT el g AR

GRAT AT,

g faaig 1 3|

ag TR &iarr

Al & T & 1|

a9 R Bifs,

g1y # ot ordl| [[AIRER 1 Shsforl-RIReR Hiar]

i3580 Fefadl & &l F 39a g1y a1 WA H Few & BI(1)
1.9m8r

2. A

3.@rer

4. 33

ii. 'GRAT FTATNT @ i T FAT AT §2 399 HA =T ST Hehell 52(2)

iii. IR sfawa o ffa T Tufaat & a9 Fr § T W arér & Ao 98 o
Tohdr 82(3)

V.9 Hfdl & TIRAAT Hlef 82 37l = FHsforal & ARTH § Sl ATH
FgT T2 fear £2(3)



KRISHNAGAR ACADEMY

SUBJECT : MATHEMATICS
CLASS : IX
FULL MARKS : 70

Answer all the questions from section A and any three questions
from section B.

Section - A (40 Marks)

1. a) Solve the following system of simultaneous linear equations : (3)

ax+2=17 , 2y+x-2Z=2.

b) In the adjoining figure , two sides AB ,AC and altitude AM of
AABC are respectively equal to two sides PQ ,PR and altitude PN of

APQR . Prove that AABC = APQR. (4)
A P
[ ] [ ]
B M C Q N R

c) If @ is an acute angle and sinf = cos0 , find the value of 8 and
hence, find the value of 2tan?60 + sin’0 — 1. (3)

2. a) PQRS is a rhombus . In rhombus PQRS, O is any interior point

such that OP=0OR . Prove that points Q,0,S are collinear. (3)
m n
(p+3) x(p—%) R
b) Show that = (3) (3)

(a+3) " x(a)’



c) Simplify the following :

cosec(90°-0) sin (90°—-0) cot(90°-0) cot@ 2
c0s(90°-0) sec(90°—0) tan®d tan(90°-0)
d) Factorise : x® + 63x3 — 64 . (2)

. a) ABCD is a rectangle . X and Y are points on sides AD and BC  (3)
respectively such that AY=BX . Prove that BY=AX and ZBAY =£ABX .

b) If tan@ + cotO = 2, find the value of tan*0 + cot*0 . (3)
€} Solve x+y 2x 30
5 1 4

x+y x 3
Hence, find the value of 2x? — y?.

. Multiple choice questions :
a) Which of the following is a factor of (x + y)3 — (x3 + y3)? (2)
i)x2 + xy + 2xy

ii)x? + y* — xy
iii)xy?
iv)3xy
1-tan?30°
=7 (2)
1+tan245°

4 1 2
i) 3 ii) 0 iii) 3 iv) 3



c) tan(a + B) = V3 and tan(a — B) = \% , where ¢ > f and

(ax + B) is acute, thena =?

(2)

i) 20° ii) 30° iii)45° iv)60°
d) If (35 + 0.25)" — (35 — 0.25)” = 35, then X= (2)
i)1 )2 ii)3  iv)5.
xX=Yy.
e) Ifx+ 2y = 3 = 4x — y, then the value of x_+yls (2)

i)o )1 iii)2  iv)3

Section - B (30 Marks)

5. a) Solve the following equations by cross-multiplication method :

8 , 3 _
6 5
—_~ -8
X )y
(3+3)=6

b) Factorise the following :
i)x10 4+ x84+ 1.
i) 4x* + y* — 13x%y2 .

6. a) In the figure given below , AB| |DF and CA||EG and BD=EC.
Prove that : i) BG=DF ii) EG=CF.
A
G F

(3)




secO+tan@ 51

b) If ———— = 2 — , then find the value of sin@ . (3)

secO—-tan0O 79

sina+cosa _ 1+V3
cosa-sina 1—/3’

c) If a is an acute angle and find the value of

2sec’a — 3cosec?

CE is drawn parallel to DA to meet BA produced at E . Prove that
ACAE is isosceles .

b) Factorise :
42a-3)?-32a-3)(a—1)—7(a—1)?.

a. (4)

. a) In AABC, D is a point on BC such that AD is the bisector of ZBAC.

(4)

(3)

¢) Evaluate : 2 (c0558°) _ ( cos38°%xcosec52° ) (3)
u ) sin32° tan15°xtan60°xtan75°
8. a) Solve forxand y : (3)

gr ! +167** =1.
@ -7 o
2 4 )
b) Evaluate :

gtan260° + sin%?45° — 3c0s260° + ztan260° — 2tan?30° + tan?30°

(3)

c) Factorise : 2+2=4

i) (a? — b?)(c? — d?) — 4abcd .
ii)8(x —3)3 +343.
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SUBJECT: PHYSICS FM 70

I. Choose the correct option [10]

Q1. The Sl unit of pressure is:
a.N/cm?

b. Pa

c.N

d. Nm?

Q2. The pressure P1 at a certain depth in river water and P2 at the same depth in seawater are
related as

a.P1>P2
b. P1=P2
c. P1<P2

d. P1-P2=atmospheric pressure

Q3. The pressure P1 at the top of a dam and P2 at the depth h from the top inside
water(density p) are related as

a.P1>P2
b. P1=P2
c. P1-P2=hpg

d. P2-P1=hpg


DEBOPRIYA
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Q4. The normal atmospheric pressure is
a.7ém ofHg

b. 76cm of Hg

c. 76Pa

d. 76N/m?

Q5. The atmospheric pressure at Earth's surface is P1 and inside mine is P2. They are related as
a.P1>P2
b. P1=P2
c. P1<P2

d. P2=0

Q6. A body will experience minimum upthrust when it is completely immersed in
a. turpentine

b. Water

c. Glycerine

d. Mercury

Q7. The Sl unit of upthrust is
a.Pa

b.N

c. kg

d. kgm?



Q8. A body of density p sinks in a liquid of density pL. The density p and pL are related as
a. p=pL
b. p<pL
C. p>pL

d. nothing can be said

Q9. The unit of relative density is
a.g/cm?
b. kg/m?
c. m3/kg

d. No unit

Q10. Relative density of a substance is expressed by comparing the density of that substance
with the density of

a. Air
b. Mercury
c. Water

d. Iron

Il. Answer the following [60]

Q1. a. State Pascal's law of transmission of pressure .Name two applications of Pascal's law . 3

b. Explain the principle of a hydraulic machine .Name two devices which work on this principle .
3

c. Two cylindrical vessels fitted with Piston A and B of area of cross section 8 cm2 and 320 cm?
respectively are joined at their bottom by a tube and they are completely filled with water. When
a mass of 4 Kg is placed on Piston A find



i. the pressure on piston A
ii. the pressure on Piston B

iii. The thrust on PistonB. 4

Q2. a. State three advantages of Mercury over Water as a barometric liquid. 3

b. What is an Aneroid barometer? Draw a neat labelled diagram to explain its construction and
working. 4

c. At a given place a mercury barometer records a pressure of 0.70 m of Hg.What would be the
height of water column if mercury in barometer is replaced by water ? Take density of Mercury
to be 13.6 x 10%kg/m3. 3

Q3. a. A solid of density p has weight W. Show that itsApparent weight will be W[1-(pL/p)] when
it is completely immersed in a liquid of density pL. 3

b. A metal cube of side 5 cm and density 7.9 g/cm? is suspended by a thread and is immersed
completely in a liquid of density 1.1g/cm?3. Find

i. the weight of cube
ii. the upthrust on cube
iii. the tension in thread. 3

c. Prove that the loss in weight of a body when immersed wholly or partially in a liquid is equal
to the buoyant force and this loss in is because of the difference in pressure exerted by liquid on
the upper and lower surfaces of the submerged part of body . 4

Q4. a. A solid weighs 50 gf in air and 44 gf when completely immersed in water calculate
. the upthrust

ii. the volume of the solid

iii. the relative density of the solid. 3

b. A jeweller claims that he makes ornament of pure gold of relative density 19.3 .He sells a
bangle weighing 25.25 go to a person. The Clever customer weighs the bangle when immersed
in water and finds that it was 23.075 gf in water .With the help of suitable calculations find out



whether the ornament is made of pure gold or not. 3

c. A body weighs w1 gf in air and when immersed in a liquid it was w2 go while it was w3 gf on
immersing in water. find

i. volume of body
ii. Upthrust due to liquid
iii. relative density of solid

iv. relative density of the liquid. 4

Q5.a. The volume of a balloon is 1000 m3.1t is filled with Helium of density 0.18 kg/m?. What
maximum load can it lift ? Density of airis 1.29 kg/m?3 . 4

b. Explain why an iron nail sinks in water while ship floats. 3

c. Explain why icebergs are dangerous for ships. 3

Q6. a. A block of iron of mass 7.5 kg of dimensions 12 cm x 8 cm x 10 cm is kept on a table top
on its base of side 12 cm x 8 cm .Calculate

i. thrust

ii. pressure exerted on the table top

(take 1kgf =10 Newton). 4

b. Why the atmospheric pressure decreases with altitude ?

Show graphically the variation in atmospheric pressure with altitude .(2+1)
c. Write down two differences between density and relative density.

The density of iron is 7800 kg/m3. What do you understand by this statement ?(2+1)
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1) Select the correct answer from the options given :- (1x10=10)
A. Alpha particles contain -

a. 2p, 2e
b. 2p, 2n
c. 2n, 2e
d. None of the above

B. The mass number of an atom whose unipositive ion has 10 electrons and 12
neutrons is

a. 23

b. 22

c. 20

d. 21

C. Rutherford discovered -

a. Nucleons

b. Nucleus

c. Neutrons

d. Alpha rays

D. The charge on peroxide ion -
a. -1

b. -2

c. +1

d. +2

E. Proton is heavier than electron by -
a. 1835 times

b. 1837 times

c. 1840 times



L.

A

B

C

D

J.

a.

b.

. 1850 times

. The charge of a nucleus is -
. Positive

. Negative

. Neutral

. Unpredictable

. Precipitation reaction is an example of -

. Synthesis
. Simple displacement
. Decomposition

. Double decomposition

. The products of neutralization reaction are -

. Acids & bases
. Salt & water
.Botha &b

. None of the above

Metal activity series is important for -
. Synthesis

. Simple displacement

. Decomposition

. Double decomposition

Which one is monoatomic?

Metal

Metalloid

. Inert gas

All of the above

.. Fill in the blanks:- (1x5=5)

. The radioactive isotope of hydrogen is
. The symbol & valency of ferrocyanide radical are

atom exhibits fractional atomic mass.

respectively.



D. Rutherford used gold foil in his alpha ray scattering experiment because of its high

E. The heaviest sub atomic particleis ______

3. Balance the following chemical equations: - (2x5=10)

A. Ammonia +Oxygen ----- > Nitric oxide+ Water

B. Aluminium carbide+ water----- > Aluminium hydroxide+ Methane
C. Ammonia +Chlorine----- > Ammonium chloride+ Nitrogen

D. Lead nitrate------ > Lead monoxide +Nitrogen dioxide +Oxygen

E. Hydrogen sulphide + Chlorine----- > Hydrogen chloride+ sulphur

4. Determine the molecular formula of the following compounds via criss-cross method
- (1x5=9)

A. Ammonium dichromate
B. Potassium acetate

C. Plumbic oxide

D. Barium hydroxide

E. Sodium zincate

5. Draw the electron dot structures for the formation of the following compounds :-
(1x5=5)

A. Ammonia

B. Nitrogen

C. Carbon tetrachloride
D. Aluminium chloride
E

. Potassium oxide

o

Draw the atomic orbital diagram for the following :- (1x5=5)
. Oxide ion

. Calcium ion

. Sulphide ion

. Potassium

= o O w @

. Silicon
7. Give balanced chemical equations for the following :- (1x5=5)

A. Photochemical reaction



B. Electrochemical reaction

C. Exothermic reaction

D. Synthesis reaction

E. Thermal dissociation

8. Determine the valency of N in the following compounds (5)

a)N.O

b) NO»

c)HNO3

4.NO

5.N2Os

9. Explain: - (1x5=5)

A. Atoms combine to form compounds.

B. Isotopes have different physical properties.

C. Rutherford's atomic model failed to explain structural stability of an atom.
D. Cathode rays can only be produced under certain conditions.

E. HCl is a polar covalent compound.

10. Answer the following questions

a) An element is represented as X245 (3)
i) What is the number of electron,proton and neutron?

ii) Write the electronic configuration

iii) Is it metal or non-metal?

b)’X’ is a metal of valency 3 and Y’ is a non-metal of valency 2 (2)
i) Write how X and Y form ions.

ii)If Y’ has diatomic gas ,then write the equation for the direct combination of X and Y
to form a compound.

c)For a compound sodium bisulphate (1+4=5)
1.Write its chemical formula
2. Calculate the percentage composition of Na,H,S,0.

(Given atomic masses Na=23,H=1,5S=32 ,0=16)



d)An atom X has 3 electrons in its M shell. Now answer the following questions based
on this information :- (1+1+1+2=5)

1. Whether the element is metal or non metal & why?
2. Determine its valency.
3. What type of bonding will it participate in & why?

4. Draw an orbital diagram to exhibit its bonding with Y having 5 electrons in its N
shell.
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Question No. 1. Choose the correct option : (1x10)

i) The progeny obtained by cross-pollination -
a) is healthy with better adaptability to the environment
b) has the characters similar to the parents
¢) shows abnormal characters
d) has few and non-viable seeds

ii) True fertilization in plants takes place between the male gamete and -
a) eggcell D) antipodal cell  ¢) polar nuclei d) definitive nucleus

iii) Scutellum is another name for -~
a) endosperm in pea b) seed coat of bean
¢) cotyledon of maize d) sheath of radical

iv) Lenticels are the special structures of gaseous exchange in -~
a) succulent stems b) soft stems ¢) green stems d) woody stems

v) The embryo present in a seed obtains oxygen through -
a) funiculus b) hilum ¢) micropyle d) cotyledon

vi) Soda lime is used in the experiments on respiration because it -
a) creates a vacuum b) absorbs moisture c) absorbs O2 d) absorbs CO2

vii) The stamens and the stigma of sweet pea are enclosed in -~
a) Winged petals b) standard petals c) keel d) lateral petals

viii) Triple fusion is the fusion of -~
a) two male gametes with a female gamete
b) two female gametes with a male gamete
¢) one male gamete with two polar nuclei
d) two male gametes with one polar nucleus

ix) The optimum temperature range for seed germination is -
a) 0°C to 50°C b) 25°C to 50°C  ¢) 25°C to 35°C  d) 15°C to 40°C

x) The process of glycolysis takes place
a) in the mitochondria of the cell
b) in the cytoplasm of the cell
¢) outside the cell
d) in the nucleus of the cell
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Question No. 2. Match the following -

A B
a) Silky styles Shoot
b) Seed coat Closed flowers
¢) Plumule Integqument
d) Mitochondria Maize plant
e) Cleistogamy Krebs cycle

Question No. 3. Fill in the blanks -~

a) Leavesof plantshave ..................oooiiial. for gaseous exchange.
b) The exalbuminous seeds store food in .............coociiiiiia...
(0] nucleus forms the male gametes.
d) Aseedisafertilized ........cooiuiiiiiiiiiiiii e
e) Cross-pollination always requires certain.....................oooue..

Question No. 4. Differentiate the following -~

a) Catabolism & anabolism
b) Epicotyl & hypocotyl

¢) Intine & exine

d) Seed & fruit

e) Autogamy & allogamy

Question No. 5. Draw a well labeled diagram of an embryo sac & a pollen grain.

(5)

(5)

(5)

(5)

Question No. 6. The diagrams A and B given below show a certain part of a flower. Study

the same and answer the questions that follow -~

N,

r o
y/ 2/13@#‘
f \)

A 4\};

a) Label the parts 1 to 4.

b) How are the contents of the part 2 released?

¢) What is the collective term for the part shown in diagram A?
d) Write any one disadvantage of self~pollination.

Question No. 7. State one function of each of the following :~
a) Generative nucleus of pollen grain
b) Placenta of an ovule
¢) Stigma of a carpel
d) Micropyle in an ovule
e) Egg cell in an embryo sac

(5)

(5)
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Question No. 8. Study the diagram given below and answer the questions that follow :~ (5)

a) Identify the structure shown above.

b) Label the parts 1, 2 and 3.

¢) Name the protective sheaths enclosing the parts 3 and 4.
d) Why this structure called a grain ?

Question No. 9. Study the experimental set-up given below and answer the questions that
follow :- (5)

a) What are the conditions necessary for the germination of a seed ?
b) Why does only the middle seed germinate and not the other two ?
¢) Name a solution which absorbs oxygen.

Question No. 10. The following diagramshows an experimental set and its result. (5)

Experimental set

a) What is aim of the shown experimental set 7

b) Why is KOH kept in the flask ?

¢) What is the reason of rise of water level in the tube ?
d) Define alcoholic fermentation.

Question No. 11. Observe the figure carefully and answer the following questions : (5)
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a) Identify the part of the plant.

b) Label the structural parts numbered 1 to 4.
¢) Write the fate of each part.

d) Name the process described by the figure.
e) Write the significance of the above process.

Question No. 12. Observe the figure given below carefully and answer the following
questions : | (5)

a) Identify the germination and label the parts of the germinating seed.
b) Name the other type of germination observed in plants.

¢) Write two differences between the two types of germination.

d) Define epicotyle and hypocotyle.

e) Give two examples of plants where this germination can be observed.

Question No. 13. Given alongside is an experimental set-up by a candidate to study the
process of respiration in plants. The candidate failed to get the expected results, as two
mistakes were made while setting up the experiments : (5)

a) Identify and state the two mistakes made by the candidate.

b) What is the role of soda lime in the experiment ?

¢) What is the purpose of using lime water in flasks ‘A’ and ‘B’.

d) Give the chemical equation to represent the process of respiration.

FPage 4 of 4



Krishnagar Academy
Pre-Annual Examination 2021-22
Class: IX

Subject: Commercial Studies
FM 70

SECTION A 10x1
Answer the following questions.
Q. 1. a) Which of the following is under the Primary Industry?
i) Manufacturing Industry
ii) Construction Industry
iii) Genetic Industry
iv) Extractive Industry.

b) Nature of utility of Industry is
i) Creates time and place utility
ii) Creates form utility

iii)Creates possession utility

iv) Creates right of the consumer

c) Which of the following is not under the aids to trade
i) Transportation

ii) Advertising

iii) Banking

iv) Wholesale trade

d) Secrecy of Sole proprietorships is:
i) Shared by partners

ii) Complete secrecy

iii) No secrecy

iv) None

e) Minimum number of members in public company is
i 2 i) 3 i) 4 iv) 7

f) Minimum number of members in Partnership form of business is
i 1 ii) 2 iii) 7.. iv) 4

g) Minimum number of members of Cooperative form of organisation is
i 7 i) 2 iii) 9 iv) 10

h) Main objective of Public Enterprises is
i) To serve the employees

ii) To serve the country

iii) To earn profit

iv) To maximize the profit

i) Which of the following is not under the Departmental Undertaking s
i) Railways

ii) Reserve Bank of India

iii) Telephone

iv) Broadcasting

j) Co-operative Organisations are established under the Indian Cooperative
Society Act:
i) 1902 i) 1905 iii) 1912 iv) 1915.

SECTION B
Answer any six of the following
Q.2. a) Discuss the features of Public Corporation. . S



. b) Distinguish between Cooperative Society and Partnership business.
5

Q.3. Discuss the features of Sole-proprietorship form of business. 5
b) Distinguish between Sole proprietorship and Joint Hindu Family business. 5

Q.4. a) Discuss the characteristics of Joint Hindu Family Business. 5
b) Discuss the features of Partnership form of business. 5

Q.5. a) Discuss the chief characteristics of a limited liability partnership. 5
b) Distinguish between sole proprietorship and partnership form of
business... S

Q.6. a) Discuss the features of Joint stock company. S
b) Distinguish between Company and Partnership form of business 5

Q.7. a) Discuss the features of One Person Compay. S
b) Distinguish between Company and Cooperative form of business 5
Q.8.a) Discuss the features of Public Enterprise. ... D

b) Discuss the features of Government Company. .. .5
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SECTION A 10x1

Q.1. a) A mother teaching her kids is the example of
i) Economic Activity

ii) Non- Economic Activity

iii) Business Activity

iv)None

b) Which of the following is under the Primary Industry?
i) Tertiary Industry

ii) Construction Industry

iii) Extractive Industry

iv) Manufacturing Industry

c) Wholesale trade is under which type of trade.
i) Foreign Trade

ii) Home Trade

iii) Entrepot Trade

iv) Import Trade

d) Registration of company form of organisation is
i) Not Compulsory

ii) Compulsory

iii) Not at all required

iv)None

e) Minimum number of members in public company is
2 i) S5 Iii) 7 iv) 9

f) Maximum number of members in private company is
i) 100. ii)) 200 iii) 300. iv) 400

g) Transfer of interest of partnership business is
i) Allowed

ii) Not allowed

iii) Optional

iv) Compulsory

h) Number of member in One Person company is
)1 i) 2. i) 3.iv). 4

ij)Minimum number of members in cooperative Organisation is
i7 i) 8 ii) 9 iv) 10

j) Registration of Cooperative Society is
i) Not Compulsory

ii) Compulsory

iii) Not required

iv) None

SECTION B 4x15
Answer any four of the following

Q.2. a) Classify the primary industry and explain each. )
b) Discuss the aids to trade. 5



c) Distinguish between Organisation, Firm and Company. 5

Q.3.a) Discuss the features of joint stock company. S
b) Distinguish between company and cooperative form of organisation.
5

c)Discuss the features of cooperative form of organisation. 5

Q.4. a) Discuss the features of Departmental Undertaking. S

b) Discuss the functions of production department in a large manufacturing
firm. 5

c) Discuss the features of Finance and Accounts Department. 5

Q.5. a)Discuss the characteristics of government company. .5
b)Discuss the features of public Corporation. .... S
c) Distinguish between Business, Profession and Employment 5

Q6. a) Discuss the functions of Marketing and Sales department.5

b) Discuss the functions of Human Resource Department. S
c) Discuss the functions of Purchase Department in a large business
concern. S
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Question 1: Choose the correct answers. [10x1=10]
1. Which of the following option leads to the portability and security of Java?
A. Bytecode is executed by JVM C. Use of exception handling
B. The applet makes the Java code D. Dynamic binding between
secure and portable objects
2. Which of the following is not a Java features?
A. Robust C. Use of pointers
B. Architecture Neutral D. Object-oriented
3. The \u000O0 article referred to as a
A. Unicode escape sequence C. Hexadecimal
B. Octal escape D. Line feed
4. What does the expression float a = 35/ 0 return?
A 0 C. Infinity
B. Not a Number D. Run time exception
5. Evaluate the following Java expression, if x=3, y=5, and z=10:
++z+y-y+2z+ X+t
A. 24 C. 20
B. 23 D. 25
6. Which keyword is used for accessing the features of a package?
A. package C. extends
B. import D. export
7. What is the range of short data type in Java?
A. -128to 127 C. -2147483648 to 2147483647
B. -32768 to 32767 D. None of the mentioned
8. What is the range of byte data type in Java?
a) -128 to 127 C) -2147483648 to 2147483647
b) -32768 to 32767 d) None of the mentioned
9. Which of these can not be used for a variable name in Java?
a) identifier c) identifier & keyword
b) keyword d) none of the mentioned
10. Which of these literals can be contained in float data type variable?
a) -1.7e+308 c) +1.7e+308
b) -3.4e+038 d) -3.4e+050
Question 2:
a) State three differences between Procedure Oriented Language and Object-Oriented
Languages. [2]
b) Why is a class called a user-defined data type? [2]
c) Give a real-life example of Polymorphism. [2]
d) How are symbolic constants represented in Java? [2]

e) What does the Robust feature in Java mean? [2]



Question 3:

a) State with reasons why are the following initializations incorrect:

int a=01238; [2]
b) Name the functions of the Scanner that is used to:

a. Accept a number of long data type

b. Accept a number of float data type. [2]
c) State the value a, b and c after the execution of each of the following statements where

a=12, b=13 and c=11:

) b=b++ + ++b + c++ + ++a; [2]
i) c=a++ + ++a/7 + b++; [2]
i) c=++a+at+/3 + ++b; [2]
Question 4:
Write a program to initialize three int variables a, b and ¢ with 234, 456 and 712 and store the
sum of the last digits of the variables into d and display it. [7%]
Question 5:
Write a program to input two integers using Scanner and find the product of their sum and
difference. [7%]
Question 6:

Write a program to input the length and breadth of a rectangle and find its area and perimeter.
Note: Area of a rectangle=length*breadth
Perimeter of a rectangle=2*(length + breadth) [7Y2]

Question 7:
Write a program to input the temperature in Fahrenheit and change it to Celsius.
Note: The relation between Fahrenheit and Celsius is given by the formula:
C=(F-32)*5/9;
Where C=Celsius and F=Fahrenheit [7Y]

Question 8:
Write a program to input a floating-point number and round it off to the nearest integer.
For Example:
INPUT: Enter a floating-point number: 12.3
OUTPUT: Rounded off to nearest integer:12
INPUT: Enter a floating-point number: 14.5
OUTPUT: Rounded off to two places of decimal:15 [10]
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Part 1
MCQ(10 Marks)

Question-1

1)Tourism falls under
a) Private Sector

b) Primary Sector

c) Public Sector

d) None of these

2) Population is increasing because of
a) High birth rate

b) High death rate

c) both (a) and ( b)

d) none of these

3)Australia is a

a) Developed economy

b) Underdeveloped economy
c) Developing Economy

d) None of these

4) Water supply falls under
a) Tertiary sector

b) Secondary Sector

c) Primary Sector

d) None of these

5) Railways fall under

a) Telecommunication service
b) Transportation

c) Technology

d) Telegraph Service

6)Wholesale and Retail Trade falls under
a) Primary Sector

b) Private Sector

¢) Public Sector

d) Secondary Sector

7) Health and Hygiene falls under
a) Social Overhead

b) Economic Overhead

¢) both (@) and ( b)

d) none of these

8) Natural resources include
a) mineral resources

b) marine resources

c) fisheries

d) all of these

9) Indian Economy is a developing economy.Which of the following statements is incorrect

about Indian economy:
a) Share of agricultural sector in national income is rising
b) Per Capita Income is rising



c¢) Economic Infrastructure is improving
d) Poverty is declining.

10) Logging falls under
a) Private Sector

b) Tertiary Sector

c) Primary Sector

d) Secondary Sector

Part 2
Answer the following questions:

Question 2:
a) Give a few characteristics of developed economy.
b) State four features of a mixed economy. (7+8=15)

Question 3:
a) Mention the reasons behind low productivity in Indian Agriculture.
b) Mention four ways how industrialisation helps in boosting up Indian economy. (7+8=15)

Question 4:

a) Mention the ways in which transport and communication network helps in bringing economic
development.

b) Mention four factors on which labour productivity depends. (7+8=15)

Question : 5

a) Mention the ways by which banks and insurance services helps in mobilisation of savings and
channelising the same in productive activities.

b) Define :

1.Public Sector

2. Private Sector

3. Rural Sector

4. Urban Sector (7+8=15)

(Sem 1:10 marks
Sem 2: 10 marks
Sem3: 10 marks)
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